Question 1:

Write code involving call/cc that could produce the following receiver and continuation:

	Receiver: (lambda (k) (k 10)) 
	Continuation: (escaper (lambda (v) (if (= 3 v) 5 7)))

Answer: (if (= 3 (call/cc (lambda (k) (k 10)))) 5 7)


Question 2:

(define mystery
	(lambda (x y)
		(if (= 0 x)
			x
			(+ y (mystery (- x 1) y)))))	

(define make-mystery-engine
	(lambda (n m)
		(make-engine
			(lambda () (mystery n m)))))	

(define eng
	(make-mystery-engine 10 20))

Assuming the engine computation completes successfully in 11 ticks, what is the output of the following?

(eng 
	20 
	(lambda (ticks . values) (- (car values) ticks)) 
	(lambda (new-eng) (set! eng new-eng)))
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